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c) Concurrent list
d) Not any specified list.

SECTION -B (ESSAY TYPE QUESTIONS)
(5x10=50 Marks)

. Why were economic reforms introduced in 19912

. Write the difference between the formal sector and the informal sector of
employment?

. Explain three dimensional attack on poverty adopted by India.

. “Rate of economic growth and consumption of energy are directly
related”. Comment.

. What was the impact of zamindari system on peasant’s welfare?
. Define poverty and explain the different causes of poverty.

. Do you think out sourcing is good for India and why developing
countries are opposing it?

. What are the major factors responsible for the growth of the service

sector in India?

===END OF PAPER===
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Instructions to the Students

L.

This Question paper consists of two Sections. All sections are
compulsory.

Section A comprises 10 questions of objective type in nature. All
questions are compulsory. Each question carries 2 marks.

Section B comprises 8 essay type questions out of which students need
to do any 5. Each question carries 10 marks.

Read the questions carefully and write the answers in the answer sheets
provided.

Do not write anything on the question paper.

Wherever necessary, the diagram drawn should be neat and properly
labelled
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SECTION -A (SHORT/OBJECTIVE TYPE QUESTIONS)
(10x2=20 Marks)

A. Inhow many sectors is the occupational structure of India is divided?
a) One

b) Two

c) Three

d) Four

. Which of the following activities is included in the primary sector?
a) Agriculture
b) Services
c) Industry
d) All of the above

. What is the definition of sex ratio?
a) Number of deaths per 1000 live births of children
b) Number of women per 1000 men
c) Number of women per 100000 men
d) Number of men per 1000 men.

. According to census 2011, how much was the total fertility rate
(TFR) in India.
a) 2.1
b) 2.3
c) 24
d) 2

. What type of unemployment found in India?
a) Structural
b) Seasonal
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¢) Disguisc
d) All the above

", What will be the ultimate impact on the poor and land less farmers if

all of a sudden, govt. decides to raisc the MSP of rice and food grains
incxorably or cxcessively?

a) The poor farmers become rich

b) The market will crash

¢) The poor farmers become more poor

d) This will encourage the export of rice and food grain

. Real GDP is measures of a country’s—

a) Wealth

b) Money

c) Economic transaction
d) Physical out put

. If people with higher income pay a higher % of income taxes, the

income tax structure—
a) Progressive

b) Regressive

c) VAT

d) Excise tax

Who gives the final approval to the five-year plan in India?
a) National development council

b) Ministry of finance

¢) Planning commission (now NITI AYOG)

d) President of India

Economic planning is in-
a) Union list
b) State list
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